850 [ (X10=%:)/ Yadl
=byl 20/ ¥id
. by=-04

Yw167100 Yy 1610

ay0=ay[ (x10=%.) /%
D10 =Byl 210/ Yool
80=1 by=-04

%, = 0,000, B, = 1,000

Liehtart P30, Yy,,7100 Yy =10
Name Bereich X,

Vm 10
574_775 8251 5069 3

3 oot 3595 auz 401 4
497_775 10388502 59 0507 0.4641577 469
497_57432.33 54.43 59 03488 0.5873542 542¢
380_574 37.82 59.41 39.2 0.2772 0.4354 491 602
B, 380_497 16,53 15.08 37.25 024 0219 469 577
M, 574_497 88.01 55.67 37.25 0.4864 03077 5420542
W, 380_775 109.289.99 39.19 0.4398 0.4024 100%

N, 380_7751092 999 391 0.4398 0.4024 10%
2,380_775 19.67 17.99 7.05 04398 04024 18%

P00 D

—1004

XYZy,1,797.09, 99.99, 104.01 Parameter: XYZ,, ,;~97.65,100.0, 95.55 Parameter:
.5 @10~ 8n0) Y10 1004 Bio Y10& Name A)p=25 80~ a0 Yo Y10& Name
~ b Yio 5% Lichtart P60 Byo= 2,58, (b~ buro) Yio Lichtart P55
ol (Xio=%:) IYd . el Vw100 Va0 ffaig =25 [ (x40 =X ) /dl Yiy16100 Yy 16710
R3¢ N b= bzoé:xo’ 330]4
> s 2= 1, byy = -0; .
8 1,000 55619 @R, X, = 0,000, B, = 1,000 55G,@
5. ) ot A B,
6 OslwaIdFarben (0) . B Agg 6 Ostwa]dFarbsn (0) .
von (M)Cpg 1oim ——t P60<> s + von (M)Cpgoim | ——t
Buntwertdiagramm (A, B,o) ~100 . L 100 Buntwertdiagramm (A, B,() ~100 ‘.
Lichtart P60, 5100 ¥, 10:10 ' \ Lichtart P55, Y, ;=100 Y, " 10
Name Berelch X, 1y Yo Zyn0 %ens AB2G; ¢ @'55M Name Bereich X, . Y Zyz0 ams A GZCd Q.
R, 563_775 6693 47.78 105 O Saus'S, 3815 592 482~ - S R, 564_775 68.31 47.99 9.65 T ETA TV oy
v 487_775 81.39 92.89 16.34 0.4269 0.4872 567 460 AT Y, 488_775 8333 93.29 15.22 0.4343 0.4862 568 460
sﬂ 487563 24.26 55.2 16.34 0.2532 0.5762 528 528c A . G, 483_564 24.97 55.39 15.22 02612 05794529 529¢
C, 380_563 39.97 62.32 104.020.1937 0302 482 592 e C, 380_564 3931 62.11 95.56 0.1995 0.3153 483 593
B 360_487 2551 17.21 96.19 0181 01221460 567 RAYY B 380_488 24,19 1681 89.98 01847 0,183 460 568
M), 563_487 82.65 54.0 98.19 03505 0.2328 5280528 _1004 M, 564_488 82.55 54.71 89.98 0.3632 0.2407 5290529
W)380_775 97.00 99.99 104.010.3224 0.3321 100% W;380_775 97.65 1000 95,55 0.333 0341 100%
N, 38077597 999 104 0322403321 10% N, 380775976 100 955 0333 0341 10%
2, 380_775 17.47 17.99 1872 0.3224 03321 18% 2, 380_775 1757 180 17.19 0333 0.341 18%
BGM20-1A BGM20-2A
XYZ,,,,=98.51,99.99 , 86.17 Parameter: XYZ,1=99.8,100.0,75.8 Parameter:
Am =25 By~ a0 Yio 1004 B1o  v;p&Name A= 25 630~ o) Yio 1004 B1o ;08 Name
5B, (byo— byg) Va0 Lichtart P50 Byo= 2,58, (Byg~ o) Yo Lichtart P45
ﬂm ol G Xm %)/l Y 167100 Yy 16710 ff ay5= a5 [ (X30 = %) /dl oY, Y7100 Yy 16710
bio=b5[ 26/ Y1l -OF-.¢
5 %0= 0= ~0.4
59Gy ¥.=0,000,8, = 1,000
56G; @
. 2
. CABlO_[AIO +B1oz] .
6 OstwaldFarben (0) . 6 OstwaldFarben (0) i
von maxil (M)Cpg oim " + P50<> von (M)Cpggoim 'n‘ + P4§
Buntwertdiagramm (A, B,) 7100 Buntwertdiagramm (A, B,) “100 4
Lichtart PSO, ¥,,,5=100 Y,,6=10 ~ 66G; 0. Lichtart P45, %,,6=100 Y,,=10 63G Q.
Name Berelch X, Yo Zyro %ens > Name Bereich X, ;0 Y10 Zyso %10 Yaso Ag e
R, 565 775668 44.54 8.7 05564 0 a7y s aae o S~ Ry SE.7T5 1042 4734 765 00280 782551 465 R
Y, 489_775 85,68 9358 13.71 0444 04849569 461 hD Y, 490775 88.57 92.93 1081 0.4605 0.4832 571 465 N
G, 489_565 28,83 59.14 1371 02835 0.5815 534 534c ‘@5 G, 490_567 27.82 5569 10.81 0.2949 05903536 536¢
C, 380_565 41.66 65.56 86.17 02154 0.339 484 597 178y C, 380_567 39.06 62.76 75.81 0.2198 0.3533 485 597
B, 380_489 22.78 16.52 8116 0.1891 01371461 569 B, 380_490 21.31 1717 7265 01917 0.1545 465 571
M),565_489 79.63 50.96 8116 0376 0.2406 5340534 _1004 M, 567_490 82.06 54.41 72.65 03923 0.2602 5360536 _1004
W)380_775 98.51 99.99 86.17 0.346 03512 100% W380_77599.8 1000 75.8 03621 0.3628 100%
N, 380775985 999 861 0346 03512 10% N, 380775998 100 758 0362103628 10%
7, 380_775 17.73 17.99 1551 0346 03512 18% 2, 380_775 17.96 180 1364 0.3621 0.3628 18%
BGM20-3A BGM20-4A
XYZ,,=101.75,100.0 , 64.44 Parameter: XYZ, ,;=104.71,99.99 , 52.16 Parameter:
5 610~ o) Yio 1004 B1o  v;p& Name Ao 2,5 by0- 810 Voo 1004 B1o  vyp& Name
5B, (030~ bpy0) Yao Lichtart P40 Byo=2,5B; (b~ byy0) Yio Lichtart P35
ol Og=%) 1 % Yy0167100 Y, 1710 || g = [ (g %) /i Y4017100 Y10
by bznézml id e byo =y [ 23/ )’01014
Piare- Y =
1,000 22 X.=0,000.8, = 1,000 e ..
CAam‘[Am B,g1*2 55,9 CAalo-[Am *Bmz]m 58G; 0 Q¥R
6 OstwaldFarben (0) N 6 OstwaldFarben (o) B H 10
von (M)Cyg1oim | ——t D von (M)Cyggoim | t é) t T t
-100 P40 100, P3 L 100
Buntwertdiagramm (A,,, B,o) Buntwertdiagramm (A4, B,o) 053C Q ..'53M
Lichtart P40, Y, ,(rmo Yy —10 61Cu Q- Lichtart P35, Y,,, = 1ou m—m = = a
Name Berelch X, ., Y. Vo RRDYS z Name Bereich X, Y, Yoo A Ao o
R, 569_775 74.46 Psed 55 05724 ums 597 287 '~.,._’ .- R, 571 775 75.67 47.37 558 osaw 03692 601 489
V0492775 9234 941 987 04709 0.4793572 465 168, V4947775 9720 9452 623 04854 04734574 466
G, 492.569 26.16 55.00 9.87 0.3024 0.5915 535 535c G, 494571 32.14 57.54 823 03282 05876 540 540¢
C, 380_569 37.57 60.09 64.45 0.2304 03741487 597 C; 380571 39.62 62.73 52.16 0.2564 0.4050 489 601
B, 380492 19.69 160 6108 0.2034 0.1653 465 572 B, 380 494 18.05 1528 49.2 0.2187 0.1851 466 574
M, 569_492 83.87 55.01 6108 0.4194 0.2751 535c535 _1004 M, 571_494 83.15 52,56 49.2 0.4496 0.2842 540540 _1004
W)380_775 101.7800.0 64.44 0.3822 03756 100% W 380_775 104.79.09 52.16 0.4076 0.3892 100%
N, 380_77510.17 100 644 03822 0.3756 10% N, 380_77510.47 .99 521 04076 0.3892 10%
2,380_775 1831 180 116 0.3822 0.3756 18% 2, 380_775 1884 17.99 9.38 0.4076 0.3892 18%
BGM20-5A BGM20-6A
>(YZW 10=109.29,99.99, 39.19 Parameter: XYZ,,=116.54,99.99 , 26.13 Parameter:
5 610~ o) Yio 1004 B1o  v;p&Name Aro= 2,5 10— 810) V1o 1004 B1o  vy5& Name
2,58, (byo -~ byyg) Yo Lichtart P30 Byo= 2,58, (byo - byg) Yio Lichtart P25

Ywag=100 Yy, 1510

Lichtart P25, Y, , ;=" 10(1 'Nao™ 1
Name Bereich X, ¥,y y“
R, 578_775 89'16 5206 258 Saor Ssato s 405
Y, 500775 1130519 875 05332 0.449 580 473

10%

7, 3807752097 17.99 47  0.4802 0412 18%

-1004

CAB,Q—[A,DAB Cagao=[AZ*B,F1™2 [

6 OstwaldFarben () 54640 6 OstwaldFarben (0) 53(;60— == PN == -oﬁz&w
von (M)Cogroim | von (M)Cpg 10iM oD o
Buntwertdiagramm (Am, By 10990 [N Buntwertdiagramm (A,,, B 0) WCHO. i '. 400

BGM20-7A

BGMZO 8A

TEZ0-TIe




